| Efficiency vs Dxy |

> 0.5
<

045 e
Z : : :
0.4
TSR SR S

>

Iclienc

eff
=
(T)IIII

0.25F --------- ........
O
0.L5F i
S| RS S S
0.05F-- --------- .........

........

..........................................

a

Ratio

IIII.IIII.IIII.IIIIiIIII.IIII.IIII.IIII

510 15 20
TP dxy (cm)

—=— DQM_V0001_R000000001__Global _CMSSW_X_Y_Z_ RECO

| Efficiency vs Dz |

~n0.02 : :
o© C E |
@-018_— -------- -----------
D.016F R
o F |
@-014_— -------- B
0-012__ """"" ------------
0.0 —
0.008F ...........
0.006f ...........
0.004f oo

0.002F ............ _____

..........................................

Ratio

20
TP dz (cm)

0

30



	Contents
	Page 1


